

$$P(x) = x^3 - 5x^2 + 11x - 15$$

Int: $\int \frac{1}{P(x)} dx = \int \frac{1}{x^3 - 5x^2 + 11x - 15} dx$

① Factoriser P:

$$D_{15} = \{\pm 1; \pm 3; \pm 5; \pm 15\}$$

	1	-5	11	-15
3		3	-6	15
1	1	-2	5	0

$$P(x) = (x-3)(x^2 - 2x + 5)$$

$$\Delta = 4 - 20 < 0 \quad \text{IRRED.}$$

②

$$\frac{1}{P(x)} = \frac{1}{(x-3)(x^2 - 2x + 5)} = \frac{A}{x-3} + \frac{Bx + C}{x^2 - 2x + 5}$$

(*)

$$C, B, A \in \mathbb{R}$$

$$\forall x \in D_{\text{eq.}}$$

(*) · (x-3)

$$\frac{1}{x^2-2x+5} = A + \frac{(Bx+C)(x-3)}{x^2-2x+5}$$

x=3

$$\frac{1}{9-6+5} = A + 0$$

$$A = \frac{1}{8}$$

$$\frac{1}{P(x)} = \frac{1}{8} \cdot \frac{1}{x-3} + \frac{Bx+C}{x^2-2x+5}$$

(**)

(**) · x

$$\frac{x}{P(x)} = \frac{1}{8} \cdot \frac{x}{x-3} + \frac{Bx^2+Cx}{x^2-2x+5}$$

$$\frac{1}{x^2} = \frac{x}{x^3} = \frac{1}{8} \cdot \frac{x}{x} + \frac{Bx^2}{x^2}$$

x → ∞

$$0 = \frac{1}{8} + B \quad \begin{array}{l} \downarrow \\ x \rightarrow \infty \end{array}$$

$$\Rightarrow B = -\frac{1}{8}$$

$$\Rightarrow \frac{1}{x^3 - 5x^2 + 11x - 15} = \frac{1}{8} \cdot \frac{1}{x-3} + \frac{-\frac{1}{8}x + C}{x^2 - 2x + 5}$$

$$x=0$$

$$-\frac{1}{15} = -\frac{1}{24} + \frac{C}{5}$$

$$\left(\frac{1}{24} - \frac{1}{15}\right) \cdot 5 = C$$

$$\frac{15 - 24}{360} \cdot 5 = C$$

$$C = \frac{-9}{72} = \frac{-3}{24} = -\frac{1}{8}$$

$$\frac{1}{x^3 - 5x^2 + 11x - 15} = \frac{1}{8} \cdot \frac{1}{x-3} - \frac{1}{8} \cdot \frac{x+1}{x^2-2x+5}$$

$x-1+2$

$(x^2-2x+5)' = 2x-2$

$$\int \frac{1}{P(x)} dx = \frac{1}{8} \ln|x-3| - \frac{1}{8} \cdot \frac{1}{2} \int \frac{2 \cdot (x-1)}{x^2-2x+5} dx$$

$\frac{f'(x)}{f(x)}$

$$= \frac{1}{8} \ln|x-3| - \frac{1}{16} \ln(x^2-2x+5) - \frac{1}{4} \int \frac{1}{x^2-2x+5} dx$$

$$\begin{aligned} x^2 - 2x + 5 &= x^2 - 2x + 1 + 4 \\ &= (x-1)^2 + 4 \end{aligned}$$

$$x-1 = 2t$$

$$\begin{aligned} x &= 2t+1 \quad | \quad dx = 2 dt \\ t &= \frac{x-1}{2} \end{aligned}$$

$$\int \frac{1}{x^2-2x+5} dx = \int \frac{1}{4t^2+4} \cdot 2 dt = \frac{1}{2} \int \frac{1}{t^2+1} dt$$

$$= \frac{1}{2} \arctan(t) = \frac{1}{2} \arctan\left(\frac{x-1}{2}\right)$$

$$\int \frac{1}{P(x)} dx = \frac{1}{8} \ln|x-3| - \frac{1}{16} \ln(x^2-2x+5) - \frac{1}{8} \arctan\left(\frac{x-1}{2}\right) + C$$

$$\left(-\frac{1}{8}\right) \frac{x+2}{x^2-2x+5} = \left(-\frac{1}{8}\right) \frac{x-1+2}{x^2-2x+5} = \left(-\frac{1}{8}\right) \frac{x-1}{x^2-2x+5} + \left(-\frac{1}{8}\right) \frac{2}{x^2-2x+5}$$